AR 7 A AR A

BT e SR BRI R AR B A SR (BRI BJR) M
£
— EERERAS AR
L EEHESER ] 30 K
2. BV RAR B 4. 2000 JT
3. FEAEE AR 1 IR/3 N H
4. FEMER A AT IR 1 IR

— BB RN GEEERK T (T

e %) HAERRZR O
16-30 42.57
31-45 62. 56
46-60 77.92
61-70 115. 15

= SHARARN
NIES S HOHEE R B AN E SRR R .
1. &1 R

SR 90H 60H 30H 0H
A 0. 86 0.93 1. 00 1.07

TE: SERFIIE RS Z 1)K, SRR A 1 7 ST R I AR L IR AT 90
Ko ERORAE &5 1 R 5

2. A AR HE 2 2

T A A A EY

BRRARBS 80 B A2 00 0 S5 G5 A B ARG T 25 R IS4 B A
Y 22 UGG A b v TR S AR T A v 7K B S R IS 5 Bt | (0. 50, 1. 00)
(AR KA BT R

SE A FEE A FR i 1. 00

BROCARBSE A0 6% 152 A0 00 S5 W AT b v T 2 1R RS A B oA 5
Y 22 TR AT B v R R i AR I A B v AT B S HE IS A Bt | (1. 00, 3. 00]
(AR BT

e RRRORRE S0 WA AT B H R ARERES NV RE i ae , e PRSP Ak B .

3. B AR

ErE e R (PO A
1 1.0
2 1.9
3 2.9




6 5.7
12 10. 8

T EEmAAHRE TR 8], SRR R s R R B, B Bk
EN RN S PAIES e/ Tk

M. #RFERY

TR R R L WOER R R, FIAEORIS 2 n WA LT 9 R B R A B
N

1. 25 fi e XU IR 0 2 2K

% P R AR T ER
et 7R AU A1 [0.4, 0.8)
T 5 AU — M [0.8, 1.0]
5 XSS 58 1y (1.0, 2.0]

FE: ARGEE R OL (BB DL WROBRAR G . RAR TS AL BMT KD
I P i R R AR B 7 (BB Bub b 2 548 B B i 83T~ 4k
A% Ji R I O AR AR S DR R SR A R E 2 I RUREIR B KT

2. B S RN B R KL

TWHFERE SR NS (N O RE
N>100000 [0.3, 0.6)
50000<N<<100000 [0.6, 0.7)
20000<N<<50000 [0.7, 0.9)
5000<N<<20000 [0.9, 1.1)
N<5000 [1.1, 1.5]

W IR B WAL R AN B, HEAT R4 .
3. AR R

WH=E RE
[ 0%, 15%) [0.650, 0.765)
[15%, 25%) [0. 765, 0.867)
[25%, 35%] [0.867, 1.000]
4. 55 =07 WA N B HE KT R
B = R TE MRS B KT R
B CRIEFELRR BBR T 242, WHERRA
FIERT 10K, AR, BETRAL, A [0.5, 1.0]
SEREARERTT, A RS fe e D
— i CREFLRES SN T 242, SRS A
FBEADNT 10K, TR BEESAL, ol (1.0, 2.0]
BAINPPRE =N WA v2 ShilE =y (EIMNEY)

VE: MRIEUSIE A BT P S E I DL D R A RN R VA R BUE . X8R
bF” B AR DRIE T bR RSG5 TR MR T R MR
USSR PN AR SR AN o TP i U ESRE Y U E A

5. e /WA AT R R %L



2218/ PG A R EX 4
[ 0%, 40%) [0.40, 0.60)
[40%, 65%) [0.60, 1.00)
[65%, 75%] 1. 00
>75% (1. 00, 2.00]
6. TR RH
LRI (H) 1 2 3 4 5 6 7 8 9 | 10 | 11 | 12
YRR TR R % 10 | 20 | 30 | 40 | 50 | 60 | 70 | 80 | 85 | 90 | 95 | 100

Ee REIE A S AR, d& A HE REMIRE DS HBE A2 A
HE, A HWE, K.

fi. REFRTHEARX

BRI 9 (kM SCAT)

BRI AR IR
RENEHIRE 98 (ISR = REARER P CIRIESTAD /80 1 AL

I 2R BEMSOON A0 % R 6y <6 4 ik HE DR IG: 2f X 2= %00



